



**A NEW MODIFIED PROXIMAL POINT ALGORITHM  
FOR A FINITE FAMILY OF MINIMIZATION PROBLEM  
AND FIXED POINT FOR A FINITE FAMILY OF  
DEMICONTRACTIVE MAPPINGS  
IN HADAMARD SPACES**

**Jinfang Tang<sup>1</sup>, Jinhua Zhu<sup>1</sup>, Shih-sen Chang<sup>2</sup>, Min Liu<sup>1</sup>  
and Xiaorong Li<sup>1</sup>**

<sup>1</sup>Department of Mathematics, Yibin University  
Yibin, Sichuan, 644007, China  
e-mail: [jinfangt\\_79@163.com](mailto:jinfangt_79@163.com), [jinhua918jinhua@sina.com](mailto:jinhua918jinhua@sina.com)  
[liuminybsc@163.com](mailto:liuminybsc@163.com), [lixr123456@163.com](mailto:lixr123456@163.com)

<sup>2</sup>Center for General Education, China Medical University  
Taichung, 40402, Taiwan  
e-mail: [changss2013@163.com](mailto:changss2013@163.com)

**Abstract.** In this paper, a new modified proximal point algorithm involving a finite family of minimization problem and fixed point for a finite family of demicontractive in Hadamard spaces is proposed. Some  $\Delta$ -convergence and strong convergence theorems for the sequence generated by the algorithm are proved in Hadamard space with suitable conditions. The results presented in the paper improve and generalize some recent results.

1. INTRODUCTION

Let  $X$  be a linear space and  $g : X \rightarrow (-\infty, +\infty]$  be a proper and convex function. One of the major problems in optimization theory is to find  $x \in X$

---

<sup>0</sup>Received March 14, 2020. Revised April 17, 2020. Accepted April 20, 2020.

<sup>0</sup>2010 Mathematics Subject Classification: 47H09, 47H10, 49J20.

<sup>0</sup>Keywords: Convex minimization problem, CAT(0) space, Hadamard space, proximal point algorithm, nonspreading mapping, k-demicontractive mapping.

<sup>0</sup>Corresponding author: S. S. Chang([changss2013@163.com](mailto:changss2013@163.com)).

such that

$$g(x) = \min_{y \in X} g(y).$$

In 1970, Martinet [14] introduced the proximal point algorithm for solving this type of problem. Later on, Rockafellar [18] studied the convergence results of solution of the convex minimization problem in the framework of Hilbert space using the proximal point algorithm which can be described as follows:

For a proper, lower semi-continuous and convex function  $g : X \rightarrow (-\infty, +\infty]$ , the sequence  $\{x_n\}$  generated by  $x_1 \in X$  and

$$x_{n+1} = J_{\lambda_n}^g(x_n), \quad \forall n \in \mathbb{N}, \quad (1.1)$$

where  $\{\lambda_n\}$  is a positive real sequence and  $J_{\lambda_n}^g$  is the resolvent of  $g$  defined by

$$J_{\lambda_n}^g(x) = \arg \min_{y \in X} [g(y) + \frac{1}{2\lambda_n} \|y - x\|^2], \quad \forall n \in \mathbb{N},$$

for all  $x \in X$ . He proved that the sequence  $\{x_n\}$  defined by (1.1) converges weakly to its a minimizer of  $g$ .

Recently, many convergence results for solving minimization problems have been extended from the classical linear spaces such as Euclidean spaces, Hilbert spaces and Banach spaces to the setting of manifolds (see [4], [8], [10], [12], [15], [17]) and the references therein.

Very recently, Chang [5] gave the following modified proximal point algorithm for solving common solution of the minimization problem and common fixed point of  $k$ -strictly pseudononspreading mappings  $T_1, T_2$  in Hadamard spaces:

$$\begin{cases} u_n = J_{\lambda}^g(x_n), \\ y_n = (1 - \beta_n)x_n \oplus \beta_n K_1 u_n, \\ x_{n+1} = (1 - \alpha_n)x_n \oplus \alpha_n K_2 y_n, \end{cases}$$

where  $K_i(x) := \delta_i x \oplus (1 - \delta_i)T_i x$ ,  $x \in C$  with  $k \leq \delta_i < 1$ ,  $i = 1, 2$ . They proved some convergence theorems under suitable mild conditions.

In 2020, Chang [6] gave an iterative algorithm to approximate a common solution of a finite family of minimization problem and fixed point for a pair of demicontractive mappings in Hadamard spaces.

Motivated and inspired by the researches going on in this direction, the purpose of this paper is to study the following proximal point algorithm and fixed

point problem: to find  $x^* \in C$  such that

$$\begin{cases} J_\lambda^{g_j}(x^*) = \arg \min_{y \in X} (g_j(y) + \frac{1}{2\lambda} d^2(y, x^*)), j = 1, 2, \dots, l, \\ x^* = T_i(x^*), \quad i = 1, 2, \dots, m, \\ x^* = S(x^*), \end{cases} \tag{1.2}$$

where  $(X, d)$  is a Hadamard space,  $C$  is a nonempty and closed convex subset of  $X$ ,  $\lambda > 0$  is a given positive number,  $g_j : C \rightarrow \mathbb{R}, j = 1, 2, \dots, l$  is a proper convex and lower semi-continuous function,  $T_i : C \rightarrow C, i = 1, 2, \dots, m$  and  $S$  are  $k$ -demicontractive mappings. Problem (1.2) is equivalent to find a point  $x^* \in C$  such that

$$x^* \in \text{Fix}(S) \cap \left( \bigcap_{i=1}^m \text{Fix}(T_i) \right) \cap \left( \bigcap_{j=1}^l \text{Fix}(J_\lambda^{g_j}) \right), \tag{1.3}$$

where  $\text{Fix}(T_i)$  is the set of fixed points of mapping  $T_i$ . Denote the solution set of problem (1.3) by  $\Gamma$ .

In this paper, an iterative algorithm to approximate a common solution of a finite family of minimization problem and fixed point for a finite family of demicontractive mappings in Hadamard spaces is proposed. Under suitable conditions, some  $\Delta$ -convergence and strong convergence theorems of the sequence generated by the algorithm to an element in the intersection of the set of solutions of such kind of minimization problem and fixed point problem in Hadamard space are proved. Our results complement and extend some recent results in literature.

## 2. PRELIMINARIES

Let  $(X, d)$  be a metric space and  $x, y \in X$ . A geodesic path joining  $x$  to  $y$  is an isometry  $c : [0, d(x, y)] \rightarrow X$  such that  $c(0) = x$  and  $c(d(x, y)) = y$ . The image of a geodesic path joining  $x$  to  $y$  is called a geodesic segment between  $x$  and  $y$ . The metric space  $(X, d)$  is said to be a geodesic space, if every two points of  $X$  are joined by a geodesic.  $X$  is said to be uniquely geodesic space, if there is exactly one geodesic joining  $x$  and  $y$  for each  $x, y \in X$ .

**Lemma 2.1.** ([9]) *A geodesic space  $X$  is a  $CAT(0)$  space, if and only if the following inequality*

$$d^2((1-t)x \oplus ty, z) \leq (1-t)d^2(x, z) + td^2(y, z) - t(1-t)d^2(x, y) \tag{2.1}$$

*is satisfied for all  $x, y, z \in X$  and  $t \in [0, 1]$ . In particular, if  $x, y, z$  are points in a  $CAT(0)$  space and  $t \in [0, 1]$ , then*

$$d((1-t)x \oplus ty, z) \leq (1-t)d(x, z) + td(y, z). \tag{2.2}$$

**Lemma 2.2.** ([3]) *Let  $X$  be a CAT(0) space,  $p, q, r, s \in X$  and  $\lambda \in [0, 1]$ . Then*

$$d(\lambda p \oplus (1 - \lambda)q, \lambda r \oplus (1 - \lambda)s) \leq \lambda d(p, r) + (1 - \lambda)d(q, s).$$

In the sequel, we denote by

$$\bigoplus_{m=1}^n \lambda_m x_m := \lambda_1 x_1 \oplus \lambda_2 x_2 \oplus \cdots \oplus \lambda_{n-1} x_{n-1} \oplus \lambda_n x_n. \tag{2.3}$$

**Lemma 2.3.** ([7]) *Let  $X$  be a CAT(0) space. Then for any sequence  $\{\lambda_m\}_{m=1}^n$  in  $[0, 1]$  satisfying  $\sum_{m=1}^n \lambda_m = 1$  and for any  $\{x_m\}_{m=1}^n \subset X$ , the following conclusions hold:*

$$d\left(\bigoplus_{m=1}^n \lambda_m x_m, x\right) \leq \sum_{m=1}^n \lambda_m d(x_m, x), \quad x \in X \tag{2.4}$$

and

$$d^2\left(\bigoplus_{m=1}^n \lambda_m x_m, x\right) \leq \sum_{m=1}^n \lambda_m d^2(x_m, x) - \sum_{i,j=1, i \neq j}^n \lambda_i \lambda_j d^2(x_i, x_j), \quad x \in X. \tag{2.5}$$

It is well known that any complete and simply connected Riemannian manifold having non-positive sectional curvature is a CAT(0) space.

A complete CAT(0) space is often called a *Hadamard space*. We write  $(1 - t)x \oplus ty$  for the unique point  $z$  in the geodesic segment joining from  $x$  to  $y$  such that  $d(x, z) = td(x, y)$  and  $d(y, z) = (1 - t)d(x, y)$ . We also denote by  $[x, y]$  the geodesic segment joining  $x$  to  $y$ , that is,  $[x, y] = \{(1 - t)x \oplus ty : 0 \leq t \leq 1\}$ . A subset  $C$  of a CAT(0) space is convex if  $[x, y] \subset C$  for all  $x, y \in C$ .

Let  $\{x_n\}$  be a bounded sequence in  $X$ . For  $x \in X$ , we set

$$r(x, \{x_n\}) = \limsup_{n \rightarrow \infty} d(x, x_n).$$

The asymptotic radius  $r(\{x_n\})$  of  $\{x_n\}$  is given by

$$r(\{x_n\}) = \inf_{x \in X} \{r(x, \{x_n\})\}$$

and the asymptotic center  $A(\{x_n\})$  of  $\{x_n\}$  is the set

$$A(\{x_n\}) = \{x \in X : r(x, \{x_n\}) = r(\{x_n\})\}.$$

It is known that in a Hadamard space,  $A(\{x_n\})$  consists of exactly one point. A sequence  $\{x_n\} \subset X$  is said to  $\Delta$ -converge to  $x \in X$  if  $A(\{x_{n_k}\}) = \{x\}$  for every subsequence  $\{x_{n_k}\}$  of  $\{x_n\}$ . In this case, we write  $\Delta - \lim_{n \rightarrow \infty} x_n = x$ .

The concept of  $\Delta$ -convergence in CAT(0) space is very similar to the weak convergence in the setting of Banach space.

**Lemma 2.4.** ([13]) *Every bounded sequence in a complete CAT(0) space always has a  $\Delta$ -convergent subsequence.*

Berg and Nikolaev [2] introduced the concept of quasilinearization as follows. Let us denote a pair  $(a, b) \in X \times X$  by  $\vec{ab}$  and call it a vector. Then quasilinearization is defined as a map  $\langle \cdot, \cdot \rangle : (X \times X) \times (X \times X) \rightarrow \mathbb{R}$  defined by

$$\langle \vec{ab}, \vec{cd} \rangle = \frac{1}{2}(d^2(a, d) + d^2(b, c) - d^2(a, c) - d^2(b, d)), \quad \forall a, b, c, d \in X.$$

It is easily to see that  $\langle \vec{ab}, \vec{cd} \rangle = \langle \vec{cd}, \vec{ab} \rangle$ ,  $\langle \vec{ab}, \vec{cd} \rangle = -\langle \vec{ba}, \vec{cd} \rangle$  and  $\langle \vec{ax}, \vec{cd} \rangle + \langle \vec{xb}, \vec{cd} \rangle = \langle \vec{ab}, \vec{cd} \rangle$  for all  $a, b, c, d \in X$ . We say that  $X$  satisfies the Cauchy-Schwarz inequality if

$$\langle \vec{ab}, \vec{cd} \rangle \leq d(a, b)d(c, d), \quad \forall a, b, c, d \in X. \tag{2.6}$$

It is known that a geodesically connected metric space is a CAT(0) space if and only if it is satisfies the Cauchy-Schwarz inequality.

In the sequel, we always assume that  $X$  is a Hadamard space,  $C$  is a nonempty and closed convex subset of  $X$  and  $Fix(T)$  is the fixed point set of a mapping  $T$ .

Recall that a mapping  $T : C \rightarrow C$  is said to be

- (1) contractive if there exists a  $k \in (0, 1)$  such that

$$d(Tx, Ty) \leq kd(x, y), \quad \forall x, y \in C;$$

If  $k = 1$ , then  $T$  is said to be nonexpansive;

- (2) quasinonexpansive, if  $F(T) \neq \emptyset$  and

$$d(Tx, p) \leq d(x, p), \quad \forall p \in F(T), x \in C;$$

- (3) firmly nonexpansive if

$$d^2(Tx, Ty) \leq \langle \overrightarrow{TxTy}, \overrightarrow{xy} \rangle, \quad \forall x, y \in C; \tag{2.7}$$

- (4) nonspreading if

$$2d^2(Tx, Ty) \leq d^2(Tx, y) + d^2(Ty, x), \quad \forall x, y \in C;$$

- (5)  $k$ -strict pseudononspreading if there exists a constant  $k \in (0, 1)$  such that for all  $x, y \in C$

$$d^2(Tx, Ty) \leq d^2(x, y) + kd^2(Tx, x) + kd^2(Ty, y) + 2(1-k)\langle \overrightarrow{xT(x)}, \overrightarrow{yT(y)} \rangle;$$

- (6)  $k$ -demicontractive if  $Fix(T) \neq \emptyset$  and there exists a constant  $k \in [0, 1)$  such that

$$d^2(Tx, p) \leq d^2(x, p) + kd^2(x, Tx), \quad \forall x \in C, p \in Fix(T). \quad (2.8)$$

Clearly, if  $T$  is a nonspreading mapping with  $F(T) \neq \emptyset$ , then  $T$  is a quasi-nonexpansive mapping, and it is also a 0-demicontractive mapping. If  $T$  is a  $k$ -strictly pseudononspreading mapping with  $Fix(T) \neq \emptyset$ , then it is a  $k$ -demicontractive mapping. But the converse is not true. This shows that the class of demicontractive mappings is more general than the class of nonspreading mappings and quasinonexpansive mapping.

Recall that a function  $f : C \rightarrow (-\infty, +\infty]$  defined on a convex subset  $C$  of a CAT(0) space is convex if, for any  $x$  and  $y$  in  $C$  with geodesic segment  $[x, y] := \{\gamma_{x,y}(\lambda) : 0 \leq \lambda \leq 1\} := \{\lambda x \oplus (1 - \lambda)y : 0 \leq \lambda \leq 1\}$ , the function  $f \circ \gamma$  is convex, that is,

$$f(\gamma_{x,y}(\lambda)) := f(\lambda x \oplus (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y).$$

**Lemma 2.5.** *Let  $f : X \rightarrow (-\infty, \infty]$  be a proper convex and lower semicontinuous function. For any  $\lambda > 0$ , define the Moreau-Yosida resolvent of  $f$  in Hadamard space  $X$  as*

$$J_\lambda^f(x) = \operatorname{argmin}_{y \in X} [f(y) + \frac{1}{2\lambda}d^2(y, x)], \quad \forall x \in X. \quad (2.9)$$

Then

- (i) *the set  $Fix(J_\lambda^f)$  of fixed points of the resolvent of  $f$  coincides with the set  $\operatorname{argmin}_{y \in X} f(y)$  of minimizers of  $f$ , and for any  $\lambda > 0$ , the resolvent  $J_\lambda^f$  of  $f$  is a firmly nonexpansive mapping. Hence it is nonexpansive ([1]);*
- (ii) *Since  $J_\lambda^f$  is a firmly nonexpansive mapping, if  $Fix(J_\lambda^f) \neq \emptyset$ , then from (2.7) we have*

$$d^2(J_\lambda^f x, p) \leq d^2(x, p) - d^2(J_\lambda^f x, x), \quad \forall x \in X, p \in Fix(J_\lambda^f). \quad (2.10)$$

**Definition 2.6.** Let  $X$  be a complete metric space and  $Q \subset X$  be a nonempty set. A sequence  $\{x_n\} \subset X$  is called Fejér monotone with respect to  $Q$  if for any  $y \in Q$  and  $n \geq 1$ ,

$$d(x_{n+1}, y) \leq d(x_n, y). \quad (2.11)$$

**Lemma 2.7.** ([11]) *Let  $X$  be a complete metric space,  $Q \subset X$  be a nonempty set. If  $\{x_n\} \subset X$  is Fejér monotone with respect to  $Q$ , then  $\{x_n\}$  is bounded. Moreover, if a cluster point  $x$  of  $\{x_n\}$  belongs to  $Q$ , then  $\{x_n\}$  converges to  $x$ .*

**Lemma 2.8.** ([16]) *Let  $C$  be a nonempty closed convex subset of a Hadamard space  $X$  and  $T : C \rightarrow C$  be a  $k$ -demicontractive mapping. Then  $Fix(T)$  is closed and convex subset in  $C$ .*

**Lemma 2.9.** ([6]) *Let  $C$  be a nonempty closed convex subset of a Hadamard space  $X$  and  $T : C \rightarrow C$  be a  $k$ -demicontractive mapping with  $k \in [0, 1)$ . If  $Fix(T) \neq \emptyset$  and  $k \leq \delta$ , then the mapping  $K : C \rightarrow C$  defined by*

$$K := \delta x \oplus (1 - \delta)Tx, \quad x \in C \tag{2.12}$$

*is quasinonexpansive mapping and  $Fix(K) = Fix(T)$ .*

### 3. MAIN RESULTS

Throughout this section, we assume that:

- (1)  $(X, d)$  is a Hadamard space,  $C$  is a nonempty closed convex subset of  $X$ ;
- (2)  $g_j : C \rightarrow \mathbb{R}$ ,  $j = 1, 2, \dots, l$  is a proper convex and lower semi-continuous function. For given  $\lambda > 0$ , define the Moreau-Yosida resolvent of  $g_j$  in  $C$  by

$$J_\lambda^{g_j}(x) = \operatorname{argmin}_{y \in C} \left( g_j(y) + \frac{1}{2\lambda} d^2(y, x) \right), \quad j = 1, 2, \dots, l. \tag{3.1}$$

In the sequel, we denote by

$$R_\lambda^k := J_\lambda^{g_k} \circ J_\lambda^{g_{k-1}} \circ \dots \circ J_\lambda^{g_2} \circ J_\lambda^{g_1}, \quad k = 1, 2, \dots, l. \tag{3.2}$$

- (3)  $T_i : C \rightarrow C$ ,  $i = 1, 2, \dots, m$  is a  $k_i$ -demicontractive mapping with  $0 \leq k_i \leq \delta < 1$ ,  $i = 1, 2, \dots, m$ , and  $T_i$  is demiclosed at zero (i.e., for any bounded sequence  $\{x_n\}$  in  $C$  such that  $\Delta - \lim x_n = p$  and  $\lim_{n \rightarrow \infty} d(x_n, T_i x_n) = 0$ , then  $T_i p = p$ ).

Denote by

$$G_i(x) := \delta x \oplus (1 - \delta)T_i x, \quad x \in C, \quad i = 1, 2, \dots, m.$$

- (4)  $S : C \rightarrow C$  is a  $k$ -demicontractive mapping with  $0 \leq k \leq \delta < 1$ , and  $S$  is demiclosed at zero (i.e., for any bounded sequence  $\{x_n\}$  in  $C$  such that  $\Delta - \lim x_n = p$  and  $\lim_{n \rightarrow \infty} d(x_n, Sx_n) = 0$ , then  $Sp = p$ ).

Denote by

$$K(x) := \delta x \oplus (1 - \delta)Sx, \quad x \in C.$$

**Theorem 3.1.** *Let  $X, C, S, \{T_i\}_{i=1}^m, \{K_i\}_{i=1}^m, \{g_j\}_{j=1}^l, \{J_\lambda^{g_j}\}_{j=1}^l, \{R_\lambda^k\}_{k=1}^l$  be the same as above. For any given  $x_0 \in C$ , let  $\{x_n\}$  be the sequence generated by*

$$\begin{cases} u_n = R_\lambda^l(x_n), \\ y_n = \beta_{n,0}u_n \oplus (\oplus_{i=1}^m \beta_{n,i}G_i u_n), n \geq 0. \\ x_{n+1} = (1 - \alpha_n)u_n \oplus \alpha_n K y_n, \end{cases} \tag{3.3}$$

where  $\lambda > 0, \{\alpha_n\}, \{\beta_{n,i}\}_{i=0}^m$  are sequences in  $[0,1]$  with  $\sum_{i=0}^m \beta_{n,i} = 1$  and  $0 < a \leq \alpha_n, \beta_{n,i} < b < 1$ , for all  $n \geq 0, i = 0, 1, 2, \dots, m$ . If the solution set  $\Gamma$  of problem (1.2) is nonempty, then the sequence  $\{x_n\}$  defined by (3.3) is  $\Delta$ -convergent to a point  $x^* \in \Gamma$  which is a common minimization of  $\{g_j\}_{j=1}^l$ , as well as it is also a common fixed point of  $\{T_i\}_{i=1}^m$  and  $S$  in  $C$ .

*Proof.* (I) It follows from Lemma 2.5, Lemma 2.8 and Lemma 2.9 that:

- (1) if  $p \in \Gamma$ , then  $p \in \bigcap_{i=1}^m \text{Fix}(T_i)$  and  $p \in \text{Fix}(S)$ ,  $p$  is a common minimizer of  $\{g_j\}_{j=1}^l$  and  $p \in \bigcap_{j=1}^l \text{Fix}(J_\lambda^{g_j})$ ;
- (2) for each  $i = 1, 2, \dots, m, \text{Fix}(G_i) = \text{Fix}(T_i), \text{Fix}(T_i)$  is a closed convex subset of  $C$  and  $G_i$  is a quasinonexpansive mapping;
- (3)  $\text{Fix}(K) = \text{Fix}(S), \text{Fix}(S)$  is a closed convex subset of  $C$  and  $K$  is a quasinonexpansive mapping;
- (4) Now we prove that for each  $i = 1, 2, \dots, m, G_i$  is demiclosed at zero. In fact, for any bounded sequence  $\{x_n\}$  in  $C$  such that  $\Delta - \lim x_n = p$  and  $\lim_{n \rightarrow \infty} d(x_n, G_i x_n) = 0$ , then we have

$$d(x_n, G_i x_n) = d(x_n, \delta x_n \oplus (1 - \delta)T_i x_n) = (1 - \delta)d(x_n, T_i x_n) \rightarrow 0. \tag{3.4}$$

Since  $T_i$  is demiclosed at zero, hence we have  $T_i p = p$ . Since  $\text{Fix}(T_i) = \text{Fix}(G_i)$ , this implies that  $G_i p = p$ . Hence  $G_i$  is demiclosed at zero.

- (5) Now we prove that  $K$  is demiclosed at zero.

In fact, for any bounded sequence  $\{x_n\}$  in  $C$  such that  $\Delta - \lim_{n \rightarrow \infty} x_n = p$  and  $\lim_{n \rightarrow \infty} d(x_n, K x_n) = 0$ , then we have

$$d(x_n, K x_n) = d(x_n, \delta x_n \oplus (1 - \delta)S x_n) = (1 - \delta)d(x_n, S x_n) \rightarrow 0.$$

Since  $S$  is demiclosed at zero, hence we have  $S p = p$ . Since  $\text{Fix}(K) = \text{Fix}(S)$ , we have  $K p = p$ . Hence  $K$  is demiclosed at zero.

- (II) Next we prove that  $\{x_n\}$  is Fejér monotone with respect to  $\Gamma$ .

In fact, by Lemma 2.5, for each  $j = 1, 2, \dots, l, J_\lambda^{g_j}$  is nonexpansive, therefore  $R_\lambda^l$  is also nonexpansive. Let  $q \in \Gamma$ . Then we have

$$d(u_n, q) = d(R_\lambda^l(x_n), R_\lambda^l(q)) \leq d(x_n, q). \tag{3.5}$$

By Lemma 2.9, for each  $i = 1, 2, \dots, m, G_i$  is quasinonexpansive, hence from (3.3) and (3.5) we have



$$\begin{aligned}
 d(y_n, q) &= d(\beta_{n,0}u_n \oplus (\oplus_{i=1}^m \beta_{n,i}G_i u_n), q) \\
 &\leq \beta_{n,0}d(u_n, q) + \sum_{i=1}^m \beta_{n,i}d(G_i u_n, q) \\
 &\leq \beta_{n,0}d(u_n, q) + \sum_{i=1}^m \beta_{n,i}d(u_n, q) \\
 &= d(u_n, q) \leq d(x_n, q).
 \end{aligned}
 \tag{3.6}$$

From (3.3), (3.5) and (3.6) we have

$$\begin{aligned}
 d(x_{n+1}, q) &= d((1 - \alpha_n)u_n \oplus \alpha_n K y_n, q) \\
 &\leq (1 - \alpha_n)d(u_n, q) + \alpha_n d(K y_n, q) \\
 &\leq (1 - \alpha_n)d(u_n, q) + \alpha_n d(y_n, q) \\
 &\leq d(u_n, q) \leq d(x_n, q), \quad \forall n \geq 0.
 \end{aligned}
 \tag{3.7}$$

This shows that  $\{d(x_n, q)\}$  is decreasing and bounded below. Hence the limit  $\lim_{n \rightarrow \infty} d(x_n, q)$  exists for each  $q \in \Gamma$ . This implies that  $\{x_n\}$  is Fejér monotone with respect to  $\Gamma$ . Without loss of generality, we can assume that

$$\lim_{n \rightarrow \infty} d(x_n, q) = c. \tag{3.8}$$

Hence the sequence  $\{x_n\}$  is bounded. So are the sequences  $\{y_n\}, \{u_n\}, \{K y_n\}$  and  $\{G_i u_n\}, i = 1, 2, \dots, m$ .

(III) Next we prove that

$$\lim_{n \rightarrow \infty} d(x_n, u_n) = 0. \tag{3.9}$$

In fact, it follows from Lemma 2.5 (ii) and (3.7) that for any given  $p \in \Gamma$  we have

$$\begin{aligned}
 d^2(u_n, R_\lambda^{l-1} x_n) &= d^2(R_\lambda^l x_n, R_\lambda^{l-1} x_n) \\
 &\leq d^2(R_\lambda^{l-1} x_n, p) - d^2(u_n, p) \\
 &\leq d^2(x_n, p) - d^2(u_n, p) \\
 &\leq d^2(x_n, p) - d^2(x_{n+1}, p).
 \end{aligned}$$

Therefore

$$\lim_{n \rightarrow \infty} d(u_n, R_\lambda^{l-1} x_n) = 0.$$

Similarly, by using the same method, we can prove that

$$\lim_{n \rightarrow \infty} d(R_\lambda^{l-j} x_n, R_\lambda^{l-(j+1)} x_n) = 0, \quad j = 0, 1, 2, \dots, l - 1. \tag{3.10}$$

Therefore we have

$$\begin{aligned} d(u_n, x_n) &= d(R_\lambda^l x_n, x_n) \\ &\leq d(R_\lambda^l x_n, R_\lambda^{l-1} x_n) + d(R_\lambda^{l-1} x_n, R_\lambda^{l-2} x_n) \\ &\quad + \cdots + d(R_\lambda^2 x_n, R_\lambda^1 x_n) + d(R_\lambda^1 x_n, x_n) \rightarrow 0 \quad (n \rightarrow \infty). \end{aligned}$$

The conclusion (3.9) is proved.

(IV) Next we prove that

$$\lim_{n \rightarrow \infty} (u_n, G_i u_n) = 0, \quad \forall i = 1, 2, \dots, m$$

and

$$\lim_{n \rightarrow \infty} d(x_n, y_n) = 0, \quad \lim_{n \rightarrow \infty} d(y_n, K y_n) = 0.$$

Indeed, it follows from (3.3) and (2.5) that

$$\begin{aligned} d^2(y_n, q) &= d^2(\beta_{n,0} u_n \oplus (\oplus_{i=1}^m \beta_{n,i} G_i u_n), q) \\ &\leq \beta_{n,0} d^2(u_n, q) + \sum_{i=1}^m \beta_{n,i} d^2(G_i u_n, q) - \beta_{n,0} \beta_{n,s} d^2(u_n, G_s u_n) \\ &\leq \beta_{n,0} d^2(u_n, q) + \sum_{i=1}^m \beta_{n,i} d^2(u_n, q) - \beta_{n,0} \beta_{n,s} d^2(u_n, G_s u_n) \\ &= d^2(u_n, q) - \beta_{n,0} \beta_{n,s} d^2(u_n, G_s u_n), \quad \forall s = 1, 2, \dots, l. \end{aligned} \tag{3.11}$$

Also it follows from (3.3), (2.5) and (3.11) that

$$\begin{aligned} d^2(x_{n+1}, q) &= d^2((1 - \alpha_n) u_n \oplus \alpha_n K y_n, q) \\ &\leq (1 - \alpha_n) d^2(u_n, q) + \alpha_n d^2(K y_n, q) - \alpha_n (1 - \alpha_n) d^2(u_n, K y_n) \\ &\leq (1 - \alpha_n) d^2(u_n, q) + \alpha_n d^2(y_n, q) - \alpha_n (1 - \alpha_n) d^2(u_n, K y_n) \\ &\leq (1 - \alpha_n) d^2(u_n, q) + \alpha_n (d^2(u_n, q) - \beta_{n,0} \beta_{n,s} d^2(u_n, G_s u_n)) \\ &\quad - \alpha_n (1 - \alpha_n) d^2(u_n, K y_n) \\ &= d^2(u_n, q) - \alpha_n \beta_{n,0} \beta_{n,s} d^2(u_n, G_s u_n) - \alpha_n (1 - \alpha_n) d^2(u_n, K y_n) \\ &\leq d^2(x_n, q) - \alpha_n \beta_{n,0} \beta_{n,s} d^2(u_n, G_s u_n) - \alpha_n (1 - \alpha_n) d^2(u_n, K y_n). \end{aligned}$$

After simplifying and by using the condition

$$0 < a \leq \alpha_n, \beta_{n,i} < b < 1 \quad (i = 1, 2, \dots, m),$$

we have that

$$\begin{aligned} &a^3 d^2(u_n, G_s u_n) + a(1 - b) d^2(u_n, K y_n) \\ &\leq \alpha_n \beta_{n,0} \beta_{n,i} d^2(u_n, G_s u_n) + \alpha_n (1 - \alpha_n) d^2(u_n, K y_n) \\ &\leq d^2(x_n, q) - d^2(x_{n+1}, q) \rightarrow 0 \quad (n \rightarrow \infty). \end{aligned}$$

This implies that

$$\lim_{n \rightarrow \infty} d(u_n, Ky_n) = 0 \text{ and } \lim_{n \rightarrow \infty} d(u_n, G_i u_n) = 0 \ (\forall i = 1, 2, \dots, m). \quad (3.12)$$

Hence from (3.3) and (3.12) we have

$$\begin{aligned} d(y_n, u_n) &= d(\beta_{n,0}u_n \oplus (\oplus_{i=1}^m \beta_{n,i}G_i u_n), u_n) \\ &\leq \sum_{i=1}^m \beta_{n,i}d(G_i u_n, u_n) \rightarrow 0 \ (n \rightarrow \infty). \end{aligned} \quad (3.13)$$

It follows from (3.9), (3.12) and (3.13) that

$$\begin{cases} d(u_n, G_i u_n) \rightarrow 0 \ (n \rightarrow \infty) \ (\forall i = 1, 2, \dots, m), \\ d(y_n, Ky_n) \leq d(y_n, u_n) + d(u_n, Ky_n) \rightarrow 0 \ (n \rightarrow \infty), \\ d(R_\lambda^l(x_n), x_n) = d(u_n, x_n) \rightarrow 0 \ (n \rightarrow \infty), \\ d(x_n, y_n) \leq d(x_n, u_n) + d(u_n, y_n) \rightarrow 0 \ (n \rightarrow \infty). \end{cases} \quad (3.14)$$

(V) Finally we prove that  $\{x_n\}$  is  $\Delta$ -convergent to some point in  $\Gamma$ .

In fact, in (II) we have proved that  $\{x_n\}$  is a bounded sequence in  $C$ , and it is also Fejér monotone with respect to  $\Gamma$ . By Lemma 2.7, in order to prove  $\{x_n\}$  is  $\Delta$ -convergent to some point in  $\Gamma$ , it suffices to prove that each  $\Delta$ -sequential cluster point of  $\{x_n\}$  belongs to  $\Gamma$ .

Indeed, let  $x^*$  be a  $\Delta$ -sequential cluster point of  $\{x_n\}$ . Then there exists a subsequence  $\{x_{n_j}\}$  of  $\{x_n\}$  such that  $\Delta - \lim_{n \rightarrow \infty} x_{n_j} = x^*$ . This together with (3.9) and (3.13) shows that  $\Delta - \lim_{n \rightarrow \infty} u_{n_j} = x^*$  and  $\Delta - \lim_{n \rightarrow \infty} y_{n_j} = x^*$ .

On the other hand, by (3.14) we have

$$\lim_{n \rightarrow \infty} d(u_{n_j}, Ky_{n_j}) = 0, \quad \lim_{n \rightarrow \infty} d(R_\lambda^l(x_{n_j}), x_{n_j}) = 0$$

and

$$\lim_{n \rightarrow \infty} d(u_{n_j}, G_i u_{n_j}) = 0 \ (\forall i = 1, 2, \dots, m).$$

Since  $R_\lambda^l$  is nonexpansive, it is demiclosed at zero. Also in (I) we have proved that  $G_i$  and  $K$  are demiclosed at zero, this implies that

$$x^* \in \text{Fix}(K) \cap \left( \bigcap_{i=1}^m \text{Fix}(G_i) \right) \cap \text{Fix}(R_\lambda^l).$$

In order to prove that  $x^* \in \Gamma$ , it should be proved that

$$\text{Fix}(R_\lambda^l) = \bigcap_{j=1}^l \text{Fix}(J_\lambda^{g_j}). \quad (3.15)$$

It is obvious that  $\bigcap_{j=1}^m \text{Fix}(J_\lambda^{g_j}) \subseteq \text{Fix}(R_\lambda^l)$ . Next we prove that

$$\text{Fix}(R_\lambda^l) \subseteq \bigcap_{j=1}^l \text{Fix}(J_\lambda^{g_j}). \quad (3.16)$$

Let  $q \in \text{Fix}(R_\lambda^l)$  and  $p \in \bigcap_{j=1}^l \text{Fix}(J_\lambda^{g_j})$ , we have

$$\begin{aligned} d(q, p) &= d(R_\lambda^l q, p) = d(J_\lambda^{g_l} R_\lambda^{l-1} q, J_\lambda^{g_l} p) \leq d(R_\lambda^{l-1} q, p) \\ &\leq d(R_\lambda^{l-2} q, p) \leq \cdots \leq d(R_\lambda^1 q, p) = d(J_\lambda^{g_1} q, p) \\ &\leq d(q, p). \end{aligned}$$

This implies that

$$\begin{aligned} d(q, p) &= d(R_\lambda^l q, p) = d(R_\lambda^{l-1} q, p) = d(R_\lambda^{l-2} q, p) \\ &= \cdots = d(R_\lambda^1 q, p) = d(J_\lambda^{g_1} q, p). \end{aligned} \quad (3.17)$$

It follows from (3.17) and (2.10) that for each  $j = 1, 2, \dots, l$ , we have

$$d(R_\lambda^j q, p) + d(R_\lambda^j q, R_\lambda^{j-1} q) \leq d(R_\lambda^{j-1} q, p) = d(q, p).$$

Since  $d(R_\lambda^j q, p) = d(q, p)$ , this implies that for each  $j = 1, 2, \dots, l$

$$d(R_\lambda^j q, R_\lambda^{j-1} q) = 0, \quad \text{i.e., } R_\lambda^{j-1} q \in \text{Fix}(J_\lambda^{g_j}). \quad (3.18)$$

Taking  $j = 1$  in (3.18), we have  $q = J_\lambda^{g_1}(q)$ . Taking  $j = 2$  in (3.18), we have that

$$q = J_\lambda^{g_1}(q) = J_\lambda^{g_2} q.$$

Taking  $j = 1, 2, \dots, l$  in (3.18) we can prove that

$$q = J_\lambda^{g_1}(q) = J_\lambda^{g_2} q = \cdots = J_\lambda^{g_{l-1}} q = J_\lambda^{g_l} q, \quad \text{i.e., } q \in \bigcap_{j=1}^l \text{Fix}(J_\lambda^{g_j}).$$

This completes the proof of Theorem 3.1.  $\square$

#### 4. SOME STRONG CONVERGENCE THEOREMS IN HADAMARD SPACES

Let  $(X, d)$  be a Hadamard space and  $C$  be a nonempty, closed and convex subset of  $X$ .

Recall that a mapping  $T : C \rightarrow C$  is said to be demi-compact, if for any bounded sequence  $\{x_n\}$  in  $C$  such that  $d(x_n, Tx_n) \rightarrow 0$  (as  $n \rightarrow \infty$ ), then there exists a subsequence  $\{x_{n_i}\} \subset \{x_n\}$  such that  $\{x_{n_i}\}$  converges strongly to some point  $p \in C$ .

**Theorem 4.1.** *In addition to satisfying the conditions in Theorem 3.1, and if one of the mappings  $\{T_i\}_{i=1}^m$  or  $S$  is demi-compact, then the sequence  $\{x_n\}$  defined by (3.3) converges strongly to a point  $x^* \in \Gamma$ .*

*Proof.* In fact, it follows from (3.14) that

$$\lim_{n \rightarrow \infty} d(u_n, G_i u_n) = 0, \quad \lim_{n \rightarrow \infty} d(y_n, K y_n) = 0, \quad \lim_{n \rightarrow \infty} d(R_\lambda^l(x_n), x_n) = 0. \quad (4.1)$$

Since  $K = \delta I \oplus (1 - \delta)S$  and  $G_i = \delta I \oplus (1 - \delta)T_i (i = 1, 2, \dots, m)$ , we have

$$\begin{aligned} d(y_n, K y_n) &= d(y_n, \delta y_n \oplus (1 - \delta)S y_n) = (1 - \delta)d(y_n, S y_n), \\ d(u_n, G_i u_n) &= d(u_n, \delta u_n \oplus (1 - \delta)T_i u_n) = (1 - \delta)d(u_n, T_i u_n). \end{aligned}$$

This together with (4.1) implies that

$$\begin{aligned} d(u_n, T_i u_n) &= \frac{1}{1 - \delta} d(u_n, G_i u_n) \rightarrow 0 (n \rightarrow \infty), \\ d(y_n, S y_n) &= \frac{1}{1 - \delta} d(y_n, K y_n) \rightarrow 0 (n \rightarrow \infty). \end{aligned} \quad (4.2)$$

By the assumption that one of  $\{T_i\}_{i=1}^m$  and  $S$  is demi-compact, without loss of generality, we can assume  $S$  is demi-compact. Therefore there exists a subsequence  $\{y_{n_j}\} \subset \{y_n\}$  such that  $\{y_{n_j}\}$  converges strongly to some point  $x^* \in C$ . Since  $S$  is demiclosed at zero,  $x^* \in \text{Fix}(S)$ .

Furthermore, by (3.8) and (3.13),  $d(x_n, u_n) \rightarrow 0$  and  $d(u_n, y_n) \rightarrow 0$ . These show that  $u_{n_j} \rightarrow x^*$  and  $x_{n_j} \rightarrow x^*$ . Since  $T_i$  and  $R_\lambda^l$  both are demiclosed at zero, we have

$$x^* \in \left( \bigcap_{i=1}^m \text{Fix}(T_i) \right) \cap \text{Fix}(R_\lambda^l).$$

From (3.15), we get

$$x^* \in \left( \bigcap_{i=1}^m \text{Fix}(T_i) \right) \cap \left( \bigcap_{j=1}^l \text{Fix}(J_\lambda^{g_j}) \right).$$

This together with  $x^* \in \text{Fix}(S)$  implies that  $x^* \in \Gamma$ . Again by (3.8) the limit  $\lim_{n \rightarrow \infty} d(x_n, x^*)$  exists. Hence we have  $\lim_{n \rightarrow \infty} d(x_n, x^*) = 0$ . This completes the proof of Theorem 4.1. □

**Theorem 4.2.** *In addition to satisfying the conditions in Theorem 3.1, and if there exists a nondecreasing function  $f : [0, \infty) \rightarrow [0, \infty)$  with  $f(0) = 0, f(r) > 0$  for all  $r > 0$ , such that*

$$f(d(x, \Gamma)) \leq d(x, R_\lambda^l x), \quad \forall x \in C.$$

*Then the sequence  $\{x_n\}$  defined by (3.3) converges strongly to a point  $x^* \in \Gamma$ .*

*Proof.* In fact, it follows from (3.14) that

$$\lim_{n \rightarrow \infty} d(x_n, R_\lambda^l x_n) = 0. \quad (4.3)$$

Therefore we have  $\lim_{n \rightarrow \infty} f(d(x_n, \Gamma)) = 0$ . Since  $f$  is nondecreasing with  $f(0) = 0$  and  $f(r) > 0$  for all  $r > 0$ , we have

$$\lim_{n \rightarrow \infty} d(x_n, \Gamma) = 0. \quad (4.4)$$

This implies that

$$\lim_{n, m \rightarrow \infty} d(x_n, x_m) \leq \lim_{n \rightarrow \infty} d(x_n, \Gamma) + \lim_{m \rightarrow \infty} d(x_m, \Gamma) = 0. \quad (4.5)$$

This implies that  $\{x_n\}$  is a Cauchy sequence in  $C$ . Since  $C$  is a closed subset in a Hadamard space  $X$ , it is complete. Without loss of generality, we can assume that  $\{x_n\}$  converges strongly to some point  $x^* \in C$ . It is easy to see that  $Fix(S)$ ,  $Fix(R_\lambda^l)$  and  $Fix(T_i)$ ,  $i = 1, 2, \dots, m$  all are closed subsets in  $C$ , so is  $\Gamma$ . Since  $d(x^*, \Gamma) = \lim_{n \rightarrow \infty} d(x_n, \Gamma) = 0$ , we have  $x^* \in \Gamma$ . This completes the proof of Theorem 4.2.  $\square$

**Acknowledgments:** This work was supported by the Scientific Research Fund of Sichuan Provincial Department of Science and Technology (2015JY0165), the Scientific Research Fund of Science and Technology Department of Sichuan Provincial(2018JY0340) and the Scientific Research Fund of SiChuan Provincial Education Department (16ZA0331).

#### REFERENCES

- [1] R.P. Agarwal, D. O'Regan and D.R. Sahu, *Iterative construction of fixed points of nearly asymptotically nonexpansive mappings*, J. Nonlinear Convex Anal., **8** (2007), 61-79.
- [2] I.D. Berg and I.G. Nikolaev, *Quasilinearization and curvature of Alexandrov spaces*, Geom.Dedic., **133** (2008), 195-218.
- [3] M. Bridson and A. Haeiger, *Metric spaces of nonpositive curvature*. Springer, Berlin. 1999.
- [4] S.S. Chang, J.C. Yao, L.Wang and L.J. Qin, *Some convergence theorems involving proximal point and common fixed points for asymptotically nonexpansive mappings in CAT(0) spaces*. Fixed Point Theory Appl., **2016**(68) (2016).
- [5] S.S. Chang, X.R. Wang, M. Liu, L.C. Zhao and L.J. Qin, *A modified proximal point algorithm involving fixed point of k-strictly pseudononspreading mappings in Hadamard spaces*. J. Nonlinear Convex Anal., **20**(8) (2019), 1647-1658.
- [6] S.S. Chang, L. Wang, X.R. Wang and L.C. Zhao, *Common solution for a finite family of minimization problem and fixed point problem for a pair of demicontractive mappings in Hadamard spaces*. The Royal Acad. of Sci., **114**(61) (2020) <https://doi.org/10.1007/s13398-020-00787-6>.
- [7] C.E. Chidume, A.U. Bello and P. Ndambomve, *Strong and  $\delta$ -convergence theorems for common fixed points of a finite family of multivalued demicontractive mappings in CAT(0) spaces*. Abst. Appl. Anal., **2014**(6) (2014).

- [8] P. Cholamjiak, A.A. Abdou and Y.J. Cho, *Proximal point algorithms involving fixed points of nonexpansive mappings in  $CAT(0)$  spaces*. Fixed Point Theory Appl., **2015**(27) (2015).
- [9] S. Dhompongsa and B. Panyanak, *On  $\Delta$ -convergence theorems in  $CAT(0)$  spaces*, Comput. Math. Appl., **56**(10) (2008), 2572-2579.
- [10] O.P. Ferreira and P.R. Oliveira, *Proximal point algorithm on Riemannian manifolds*. Optimization, **51** (2002), 257-270.
- [11] O.P. Ferreira and P.R. Oliveira, *Proximal point algorithm on Riemannian manifolds*. Optimization, **51**(2) (2002), 257-270. doi:10.1080/02331930290019413.
- [12] J.K. Kim, R.P. Pathak, S. Dashputre, S.D. Diwan and R. Gupta, *Demiclosedness principle and convergence theorems for Lipschitzian type nonself-mappings in  $CAT(0)$  spaces*, Nonlinear Funct. Anal. Appl., **23**(1) (2018), 73-95.
- [13] W.A. Kirk and B. Panyanak, *A concept of convergence in geodesic spaces*, Nonlinear Anal. TMA., **68**(12) (2008), 3689-3696.
- [14] B. Martinet, *Régularisation d'inéquations variationnelles par approximations successives*, Rev Franise Informat Recherche Operationnelle. **4** (1970), 154-159.
- [15] G.A. Okeke, J.O. Olaleru and J.K. Kim, *Mean convergence theorems for asymptotically demicontractive mappings in the intermediate sense*, Nonlinear Funct. Anal. Appl., **23**(4) (2018), 613-627.
- [16] M.O. Osilike and F.O. Isiogugu, *Weak and strong convergence theorems for nonspreading type mappings in Hilbert space*, Nonlinear Anal. TMA., **74** (2011), 1814-1822.
- [17] E.A. Papa Quiroz and P.R. Oliveira, *Proximal point methods for quasiconvex and convex functions with Bregman distances on Hadamard manifolds*, J. Convex Anal., **16** (2009), 49-69.
- [18] R.T. Rockafellar, *Monotone operators and the proximal point algorithm*. SIAMJ Control Optim. **14**(5) (1976), 877-898.